12”0815 (K12n0815)

/ ’ Linearized knot diagam

D A N e e e o e e e e e e
2 \/E]\)J \ 4 6 12 7 10 2 1 12 6 8 4 10
Noy

e Solving Sequence

26 >3-710>5—>4—>1—>9—>12—>8—> 11 > C3,C7,C11
C2 Ce Cs Cy4 C10

A knot diagranﬂ €1 C Ci2 G

Ideals for irreducible component#ﬂ)f Xpar

I = (5655077u' + 18192667u'? 4 - - - + 576450400 + 32704792,
4782676u'" + 14870711u'% + - - - + 28822520a + 7681096,
u'? + 4t + 2200 + 490° 4 1240® + 1520”7 + 187u® + 152u° + 154u* + 123u® + 84u? + 36u + 8)
Y = (—u® +uba + vPa — 2u8 + 2uta — 3u® + 4uda — ut + 3uPa — 3u® + 3au — 2u® + b + a,
—u?a—2uPa+ - —2a—2, u'® +u 4+ 3u® + 6u” + 7ub + 9’ + 10u + 8ud + 5u? + 2u + 1)
I¥ = (—5028u"a — 3060u” + - - - + 87875a + 61205,
— 60170u”a — 58983u” + - - - 4+ 1299250a + 839905,
u® — 6u” + 24u8 — 50u° + T3u* — 72u® + 61u? — 55u + 25)
I'=0b-u—1, a u*+u+1)
IY = (u? +4b+2u + 5, —2u® + 2a + 3u — 15, u® — u® + Tu + 1)

* 5 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I = (5.66 X 10%u™ +1.82 x 107w +- .- +5.76 X 107b + 3.27 x 107, 4.78 X
108411 +1.49 x 107w ... +2.88 X 107a+7.68 x 10%, w2 +4ull+...+36u+8)

(i) Arc colorings

- )

0
ae = u
1
a = u
u
u
—0.165935u!! — 0.515941610 + - - - — 3.42377u — 0.266496
—0.0981017u! — 0.315598u10 4 - - . — 1.84222u — 0.567348
0.0555299u'! + 0.197961u'° + - - - + 1.67411u + 1.16096
as = \ —0.0124138u!'! — 0.0591623u° + - - . — 0.874760u — 0.426335
0.0532919u'" + 0.200754u'° + - - - + 1.69020w + 1.04375
as = \ —0.0146517u'! — 0.0563689u° + - - - — 0.858673u — 0.543549
0.0196973u'! + 0.0508957u'0 + - - - + 1.95987u + 1.74708
a1 = \ —0.0164741u't — 0.077315940 + - - - — 0.265718u — 0.289371
—0.165935u!! — 0.515941%10 + - .. — 3.42377u — 0.266496
—0.03114444" — 0.0537009¢10 + - - - +2.15113u + 0.615059
0.0709185u'! + 0.185572u'® + - - - + 1.74180u + 0.710849
0.0709921u'! + 0.228068u'° + - - - + 2.74286w + 0.542669
—0.0711186u'! — 0.224055u'° + - - - + 0.618483u + 0.662628
0.00749790u! + 0.0714935u10 + - - - 4+ 4.03579u + 0.760724

—0.164351u't — 0.516002u'" + - - - — 6.02898u — 1.47273
ann = \ —0.0364474u't — 0.0811342u'% + - - - + 0.0786132u + 0.481147

(ii) Obstruction class = —1

_ 728881 .11 , 352229 10 29077369 7367045
(iii) Cusp Shapes = — 5755w + 265070+ + Toai1e6 ¢ T 720563




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy u'? — 400 4 30% + 13u® — 207 — 1908 + 13u* — 3u® —2u+ 1
Co,Cg w? — 4t - —36u+8
€3, C5, Cy w2450l 4o 160+ 4
C11
cr u'? —12uMt 4+~ 112u+ 16
Cs u'? —13u' + - — 2840u + 472
€10, C12 u? —ut o —ut 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,64 y'? =8yt —dy+1
c2,Co y'? +28y" 4+ 48y + 64
€3,Cs,Cy y12 *23?/11 + -4+ 192y + 16
C11
cr Y2+ 2yt + - 4+ 1536y + 256
cs y12 + 45y11 + -+ 1504672y + 222784
€10, C12 y? -yt 31y 41




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape
= 0.540143 + 0.7616271
= —1.69223 + 0.788561 —2.97909 4 0.17410I | —3.65502 — 0.563161

—0.993599 + 0.1151311

0.540143 — 0.7616271
—1.69223 — 0.788561 —2.97909 — 0.174101 | —3.65502 4 0.563161
—0.993599 — 0.1151311

—0.495932 4 0.9591521
0.436587 — 0.0713681 | —0.33260 — 5.310981 0.92797 4 6.122541
0.788354 — 0.737396.1

—0.495932 — 0.9591521
0.436587 + 0.0713681 | —0.33260 + 5.310981 0.92797 — 6.122541
0.788354 + 0.7373961

—0.313071 4 0.6745271
—0.261436 4 0.5836611 | —0.252110 — 1.1563701 | —2.57186 + 6.154071
0.024504 + 0.5117491

—0.313071 — 0.6745271
= —0.261436 — 0.5836611 | —0.252110 + 1.1563701 | —2.57186 — 6.154071
0.024504 — 0.5117491

—0.433831 4 0.2564461
0.396072 — 1.2016401 1.23387 + 1.551751 4.02015 — 1.838291
—0.339334 — 0.1832201

—0.433831 — 0.2564461
0.396072 + 1.2016401 1.23387 — 1.551751 4.02015 + 1.838291
—0.339334 4 0.1832201

—0.29653 + 2.668701
—0.147885 — 0.8388921 —16.8158 — 1.66281 —7.43215 4 4.581151
0.05531 — 2.127631

—0.29653 — 2.668701
= —0.147885 + 0.8388921 —16.8158 4 1.66281 —7.43215 — 4.581151
= 0.05531 + 2.127631

>~ Q@ 2|l @ €| @& 8|l @ €| @ €| & €| & &8> & 8| & 8| & &




Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

—1.00078 + 2.602051
0.231108 + 1.2204501

18.3232 — 12.89451

—2.78911 + 4.524471

—1.00078 — 2.602051
—0.231108 — 1.2204507
= —0.03524 — 2.202161

U
a
b= —0.03524 + 2.202161
U
a
b

18.3232 + 12.89451

—2.78911 — 4.524471




II.
Iy = (—u®4uba+---+b+a, —u?a—2uta+---—2a—2, u'%4u+.--+2u+1)

(i) Arc colorings

o ()

0
as = \u
1
as = —u?
u
a?— u
a
@10 = \ud —uba+--- —3au—a
wa+ud 4+ —a+2u
as = \ va+u’+---+a+2
wa+u + -+ —2a+2u
ag = \ wa+u’+---+5u+2
—ua—ud 4+ —6u—1
ap = \—va—u®+ - —4du—1
a
ag = \u® —ula+---—3au—a
—ula—2u’ + - +a—2
a2 =\ —u'a—ub+- —du—2
ua + 3u’ + - - — au + 6u
as = uda+u® + -+ 6u+2
—ua —2u® + - +2a—1
an =\ —ua—2u¥+---+a-3

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u? + u® + 9u” + 17u® + 17u5 + 31u* + 34u3 + 19u? + 15u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy w0 =t o —Tu+ 1
C2 (u'® +u® + 3u® + 6u” + Tub + 9u® + 10u* + 8u® + 5u? 4 2u + 1)2
3, Co w0 4 o+ 24044
C5,C11 w0 — 4 o — 24044
6 (u® —u® + 3u® — 6u” + Tu® — 9u® + 10u* — 8u® + 5u? — 2u + 1)?
cr (u® — 4u® 4 10u® — 2u® — 9u* — 120> + 15u? + 2u + 4)?
s (u® 4 2u° — 4u® — 4u” + 1408 4 6u° — 14u* — 4u® 4 120u% + 6u + 1)?
€10, C12 w0 -7+ —6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ca yQO_y19+_9y+1
Ca2,Cq (y'° + 5y + 119° + 8y" — 595 — 995 + 8yt + 149> + 132 + 6y + 1)?
€3, Cs5,C9 y2°+2y19+-~+64y+16
C11
¢ (y"* — 8y’ + - + 116y + 16)°
cs (" =127 + - — 12y + 1)
€105 C12 v =9y =8y +1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —1.014310 + 0.2566911
a= 0.964180 — 0.5671841
b= —0.172201 — 1.1252707

—2.82507 — 0.015861

—5.03096 + 0.406721

u = —1.014310 + 0.2566911
0.842936 + 0.8963921
b= —0.089370 4 1.1106501

—2.82507 — 0.015861

—5.03096 + 0.406721

u = —1.014310 — 0.2566911
0.964180 + 0.5671841
b= —0.172201 + 1.1252701

a =

—2.82507 + 0.015861

—5.03096 — 0.406721

u = —1.014310 — 0.2566911
= 0.842936 — 0.8963921
—0.089370 — 1.1106501

—2.82507 + 0.015861

—5.03096 — 0.406721

= —0.494190 + 0.6500321
0.701854 — 0.1190571
0.93649 — 2.034491

—1.80674 — 6.469471

—1.01128 4-9.302311

—0.494190 + 0.6500321
= —0.366624 — 1.2776101
= 0.159063 — 0.2497861

—1.80674 — 6.469471

—1.01128 4-9.302311

= —0.494190 — 0.6500321
0.701854 + 0.1190571
0.93649 + 2.034491

—1.80674 + 6.469471

—1.01128 — 9.302311

—0.494190 — 0.6500321
—0.366624 + 1.2776101
0.159063 + 0.2497861

—1.80674 + 6.469471

—1.01128 — 9.302311

0.382212 + 1.2559801
= 0.293033 — 1.1002701
0.11581 — 2.622671

—3.73684 + 4.800301

—9.38054 — 3.155871

0.382212 + 1.2559801
= —0.519971 + 0.0356431
= —0.588255 + 0.3033051

—3.73684 + 4.800301

—9.38054 — 3.155871
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= 0.382212 — 1.2559801
0.293033 + 1.1002701
0.11581 + 2.622671

—3.73684 — 4.800301

—9.38054 + 3.155871

0.382212 — 1.2559801
= —0.519971 — 0.0356431
—0.588255 — 0.3033051

—3.73684 — 4.800301

—9.38054 + 3.155871

0.068366 + 0.6102401
= —0.187485 + 1.3995501
0.909534 — 0.1360131

—0.72327 — 2.846411

—2.67521 + 3.013001

0.068366 + 0.6102401
= —1.41876 + 0.523811
—0.061464 + 1.3814301

—0.72327 — 2.846411

—2.67521 + 3.013001

0.068366 — 0.6102401
—0.187485 — 1.3995501
0.909534 + 0.1360131

—0.72327 4 2.846411

—2.67521 — 3.013001

0.068366 — 0.6102401
—1.41876 — 0.523811
—0.061464 — 1.3814301

—0.72327 4 2.846411

—2.67521 — 3.013001

0.55792 + 1.340431
0.830798 + 0.6419591
—0.21457 + 2.056601

5.80206 + 1.859881

11.59799 + 1.327231

0.55792 + 1.340431
—1.139960 — 0.1800681
—0.495038 — 0.305606.1

5.80206 + 1.859881

11.59799 + 1.327231

0.55792 — 1.340431
0.830798 — 0.6419591
—0.21457 — 2.056601

5.80206 — 1.859881

11.59799 — 1.327231

> Q& €|l & €|l & €| Q& €| 2 &) Q@ &)l Q@ €|l & €|l & &> & &

0.55792 — 1.340431
—1.139960 + 0.1800681
= —0.495038 + 0.3056061

5.80206 — 1.859881

11.59799 — 1.327231
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III. 1Y = (—5028u"a — 3060u” + - - -

5.90 X 10%u” + - -

(i) Arc colorings

- )

0
ag = u
1
a3 == u
u
a? — u
a
0.208156au” + 0.126682u7 + -
0.0470296au" + 0.0807038u" + -
as = \ —0.0371352au” 4+ 0.0705030u7 + - - -
0.00269095au7 + 0.0452660%7 + - - -
as = \ —0.0814738au” 4+ 0.0350652u7 + - - -
—0.0475678au” — 0.0396357u" + -
a1 = \ —0.0475678au” — 0.0895467u7 + -
a
ag = \0.208156au’ + 0.126682u" + -
—0.145519au” — 0.0181660u7 +
0.192548au” + 0.0841648u”
0.128379au” + 0.0664376u7 + -
0.128379au” + 0.313310u7 + -

0.106189au” 4 0.234602u” + - - -
a1 = \ —0.228648au’ + 0.0835438u” + - - -

(ii) Obstruction class = —1

(iii) Cusp Shapes

+ 87875a + 61205,
-+ 1.30 x 10%a + 8.40 x 10%, u®

—6.02 X 10%au” —
—6u” + -+ — 55u + 25)

— 3.63796a — 2.53384)

+0.0672739a — 0.0987373

— 0.454150a — 2.52258
+ 2.10412a — 0.179466

— 2.49100a — 2.44185 )

- —1.21817a + 2.58775
- —1.21817a + 2.46657

— 3.63796a — 2.53384>

-+ 2.71290a + 0.0474022
—5.20389a — 2.55827

— 1.68185a — 0.471083
— 1.68185a — 5.53860

— 3.84455a — 1.23660
+ 4.32726a + 2.00807

68757

__ 2475,,7 58067 6_|_ 218393 ,,5

- 4831“ - 24155 24155 24155

326712 4+ 446026 , 3
24155

285694 2_|_ 252936

24155 24155 ¢~ 4831



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy u'® — 541 ... —137u + 103
c2, Co (u® + 6u” + 24u8 + 50u” + T3u* + 72u® + 61u? + 55u + 25)*
3,65, u'® — 4u'® + - + 8104u + 8557
C11
¢ (u* 4+ 2u® — 3u — 1)*
c8 (u® 4+ 4u” + - - - + 1636w + 709)?
¢10, C12 u'® 4 5ul® . 4+ 1490u + 631

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 y® — 3y1° + ... — 68415y 4+ 10609
¢2,C6 (y® 4+ 12y7 4 122y° + 262¢° + 447y* — 578y — 549y* + 25y + 625)*
€3, 5, Co y'0 — 42y ... 4 743954296y + 73222249
C11
cr (v —4° + 10y — 9y + 1)*
Cs (y® + 110y" + - - - 4 929478y + 502681)>
€10, C12 Yo — 17y + ... + 2691604y + 398161

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.356173 4 0.9220511
a = —1.45726 — 0.662051
b= —0.571202 + 0.1246511

—2.60769 + 5.611591

—4.01448 — 3.521191

u = —0.356173 4 0.9220511
0.58952 — 1.508501
b= —0.46449 — 2.424771

—2.60769 + 5.611591

—4.01448 — 3.521191

u = —0.356173 — 0.9220511
a = —1.45726 + 0.662051
b= —0.571202 — 0.1246517

—2.60769 — 5.611591

—4.01448 4 3.521191

u = —0.356173 — 0.9220511
= 0.58952 + 1.508501
—0.46449 + 2.424771

—2.60769 — 5.611591

—4.01448 4 3.521191

= 0.976606 + 0.1525711
—1.248430 — 0.2128497]
0.444438 — 0.3301701

—2.60769 — 1.551821

—4.60507 4+ 3.156481

0.976606 + 0.1525711
= —0.065632 + 0.3904791
= 0.386763 + 1.1984001

—2.60769 — 1.551821

—4.60507 4 3.156481

= 0.976606 — 0.1525711
= —1.248430 + 0.2128491
0.444438 4+ 0.3301701

—2.60769 + 1.551821

—4.60507 — 3.156481

0.976606 — 0.1525711
—0.065632 — 0.3904791
0.386763 — 1.1984001

—2.60769 + 1.551821

—4.60507 — 3.156481

0.82072 + 1.421531
= 0.883685 + 0.7002091
—0.16909 + 1.791821

5.45104 + 2.029881

—7.20164 — 6.736271

= 0.82072 + 1.421531
= 1.150180 + 0.1223081
= 0.512857 + 0.3129841

5.45104 + 2.029881

—7.20164 — 6.736271

15



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.82072 — 1.421531
0.883685 — 0.7002091
—0.16909 — 1.791821

5.45104 — 2.029881

—7.20164 + 6.736271

U
a
b
U
a
b

0.82072 — 1.421531
1.150180 — 0.1223081
0.512857 — 0.3129841

5.45104 — 2.029881

—7.20164 + 6.736271

u =

1.55884 + 2.700001

a= 0.40664 — 1.379691

b:

0.37568 — 2.031201

19.5035 + 2.02991

—3.67881 — 0.693251

u= 1.55884 4 2.700001
a= 0.14130 + 1.510861
b= —0.01496 + 2.224311

19.5035 + 2.02991

—3.67881 — 0.693251

u= 1.55884 — 2.700001
a= 0.40664 + 1.379691

b:

0.37568 + 2.031201

19.5035 — 2.02991

—3.67881 + 0.693251

uw= 1.556884 — 2.700007
a= 0.14130 — 1.510861

b:

—0.01496 — 2.224311

19.5035 — 2.02991

—3.67881 + 0.693251

16



IV.I}=(b—u—1, a, u>* +u+1)

(i) Arc colorings

= (o)

ag —

az =

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u + 2

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
2 1
C1,C4, Cg u® —u—+
Co 2 1
u” 4+ u+
C3,Cs5,C7 u2
Cg, C11
s (u+1)?
2
€10, C12 (u—1)

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 y2+y+1
Ce
C3,Cs5,C7 y2
Cg, C11
—1)2
€8, C10, C12 (y )

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
u = —0.500000 + 0.8660257
a= 0 1.64493 — 2.029881 0.+ 3.464101
b= 0.500000 + 0.8660251
u = —0.500000 — 0.8660251
a= 0 1.64493 + 2.029881 0. — 3.464101

b= 0.500000 — 0.8660251

20



V. I} = (u?*+4b+2u+5, —2u?+2a+3u—15, u® —u? 4+ Tu+1)

(i) Arc colorings

1
ag = 0
0
a6: u
1
as = _u2
Uu
a?— u
(uQ—gu—i-l;’
ag=\_1,2_1, 5
10 U U — 4
_5,2 41, 33
u”tau—73
as = —u-+1
(—u2+u—8
ap= \1,2 _1,.5
4 W —gutg
(gu2—2u—|—22‘3>
a; = 1,2 7
! v Ty
(u2—2u+125
ag = _1,2_ _7T
9 U 3u— g
(e ®)
a1p = 1.,2_5
12 4u 1
(fu2—3u+8%
ag = 1,243 13
8 qu tau—73
(%u2 ;u+67)
a;=\1,2__ 1, 11
11 u 2u 1

(ii) Obstruction class =1

_ 3,2 23
(iii) Cusp Shapes = —ju” +2u — 5

21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 ud —u—1
C2 w—ul 4+ Tu+1
C3, Cg w =4+ u+7
cs, C11 W +u—7
6 ud Fu? 4 Tu—1
7 ud —u® 4 2u—7
€8 u® — 3u? + 18u — 27
€105 C12 u® + 2u® + 3u + 1

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 y3—2y2—|—y—1
3 2
C2, Cg y® +13y° + 51y —1
3,65, y® — 14y® + 57y — 49
C11
cr y® 4+ 3y? — 10y — 49
Cs y® + 27y + 162y — 729
3 2
€10, C12 Yo+ 2y" +5y —1

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I

V=1(vol + y/=1CS)

Cusp shape

u = —0.139681

7.72903

b= —1.18504

—4.20933

—11.8090

0.56984 + 2.614281
0.135484 — 0.9419771
0.09252 — 2.052001

—15.9896 + 0.94271

—0.595686 + 0.7593951

0.56984 — 2.614281
0.135484 + 0.9419771
0.09252 + 2.052001

—15.9896 — 0.94271

—0.595686 — 0.7593951

24



VI. u-Polynomials

Crossings u-Polynomials at each crossing
(u? —u+1)(u® —u—1)
c1,C

b (12 — 401 4 30 + 138 — 2u7 — 198 + 13ut — 3u® — 2u + 1)
S(u® =5t 4~ 137u 4 103) (v — Tut - — Tu + 1)
(u? +u+1)(u —u? + Tu+1)

C

? (u® + 6u” + 24u’ + 50u° + T3ut + 72u® + 61u® + 55u + 25)°
(4w 4 3uB 4 60" + Tub + 9u® + 10ut + 8uP + Hu? + 2u + 1)?
S(u'? —4ut 4~ 36u + 8)
cs. Co w?(u® — 4u® +u+ 7)(u'? 4+ 5utt 4 - 4 16u + 4)
(' —4u® 4 8104u + 8557) (U0 + 4u'? + -+ 24u + 4)
Cs. C11 w?(u® + 4u® +u— 7)(u'? 4+ 5utt 4 - 4 16u + 4)

S(u'® —4u® 4 8104u + 8557) (u? — 4u'® + - — 24u + 4)
(u? —u+ 1) (ud +u? + Tu—1)

“ (u® + 6u7 + 246 + 50u° + T3ut + 72u% + 61u? + 55u + 25)?
(' —u® + 3u® — 6u” 4+ Tub — 9uP + 10ut — 8u® + 5u? — 2u + 1)?
C(u'? — 4+ — 36u +8)

o w?(u® — u? + 2u — 7)(u* + 2u® — 3u —1)*
(' — 4u® + 1068 — 2u° — 9ut — 1203 + 150 + 2u + 4)?
S(u'? =120t = 112u + 16)

s (u+1)%)(u® — 3u® + 18u — 27) (u® 4 4u” + - - - + 1636w + 709)?
(' 4 20 — 4u® — 4" + 1408 + 665 — 14ut — 4uP 4 120 + 6u + 1)?
S(u'? —13u!t 4 - — 2840u + 472)

10, C1 (u—1))(u® +2u? +3u+ 1) —u't +-- —u+1)

(u® 4+ 5t 4+ 1490u + 631) (w0 — Tut? 4o — 6u+ 1)
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Crossings

VII. Riley Polynomials

Riley Polynomials at each crossing

C1,C4

WP +y+ D -2 +y -1y —8y' - —dy +1)
(y'® — 3y™ - — 68415y + 10609) (y*° — y? + - — 9y + 1)

C2,Cq

(> +y+1)(y* + 13y + 51y — 1)

(Y +12y7 4 12295 + 26295 + 447y* — 578y> — 549y% + 25y + 625)*
(Y + 5y 4+ 11y% 4 8y" — 5y® — 9y + 8y* + 14> + 13y% + 6y + 1)?
Sy 428y -+ 48y + 64)

C3,Cs5,Cy

C11

v (y® — 14y® + 57y — 49)(y*? — 23y + -+~ + 192y + 16)
(y'® — 429" 4 - + 743954296y + 73222249)
Sy 429" + -+ 64y + 16)

C7

y2 (v + 3y* — 10y — 49)(y* — 49> + 105> — 9y + 1)*
(Y =8y’ + -+ 116y + 16)*) (y'* + 24" + - + 1536y + 256)

C8

(y — 1)*(y* + 27y + 162y — 729)

(y® + 110y" + - - - + 929478y + 502681)?
Syt =129 4 — 12y +1)2

(y'? +45yM 4 -+ 4+ 1504672y + 222784)

€10, C12

(y =D+ 20> +5y — )y =y +- -+ 31y + 1)
(' — 17yt 4+ 2691604y + 398161) (v — 9y 4 — 8y 4 1)
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